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CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL)

3w eoil& FLoMml6et6V

1. &m AgpCOs Qe o6lgaillilqul
sHengelley 2.6Tem AgT  Siwesligerileot

Glanley 2.24 - 10 *molL 1 eTevflev,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XtetfbYqScaI

AgyCr0, Q61 e J&HMesT  6lL([HES
DS LIL

A 2.42 .10 3mol®L 3

B.2.66 - 10 mol®L 3

C.4.5-10 Ymol’L 3

D.5.619 - 10 2mol®L 3

Answer: A::B::C

o View Text Solution



https://dl.doubtnut.com/l/_XtetfbYqScaI

2. GleustGeaum| 6laMleyseme6d blSMesoTL
NaOH LoMHM|LD HCl &H60) [JF6VSH60)6TT,

bleueuGeum|  SHETSHETEYSETTIEV  SHEVTHE

Lil66T6U (THLD &H60) [JG-6VGH6IT
L : M
SWM&HSLILLL60T. i) 6OmL(1—O)HCI +

M M
40mL NaOH ii) 55mL 10 HCl + 45mL
M

( >NaOH i) 75mL<?)HCI + 25mL
M M

— |NaOH iv) 100mL{ — JHClI + 100mL
5 10

(%)

—— | NaOH

10

A v


https://dl.doubtnut.com/l/_hMtceb6TxJ7N

D. iii

Answer:

o View Text Solution

3. 298K &V, Hiflev BaSO, Q65T semyghmedt
2.42 - 10 %gL ! er6vfl6v 18601 HevryTHM6T
lL(BH&s (K,,) wslL BaSOs Qeti

GLomeurty Hlemym) = 233 g mol !


https://dl.doubtnut.com/l/_hMtceb6TxJ7N
https://dl.doubtnut.com/l/_BzN0VKLJuXtr

A 1.08 - 10 “mol®L 2

B.1.08 - 10 “2mol®L 2

C.1.08 - 10 %ol L 2

D.1.08 - 10 3mol®L 2

Answer: A::B

o View Text Solution

4. 6lgailliqul Ca(OH), semgellest pH
w&uL 9 erevlley, Ca(OH), Qeor

60 Sl M6dT blLI(h&a (K;,) LOGILIL


https://dl.doubtnut.com/l/_BzN0VKLJuXtr
https://dl.doubtnut.com/l/_4MIaunvzxcuG

A.0.5-101°

B.0.25 .10 1Y

C.0.125- 10 1°

D.0.5-10" 10

Answer: A

o View Text Solution

5. H,O 1omm|b HF Sh&IW SiLbleurai &erilest

Q6016001 SHITIMHISHETT


https://dl.doubtnut.com/l/_4MIaunvzxcuG
https://dl.doubtnut.com/l/_KmEEgnn735OL

A weomCw OH ™~ wmmib HFH™
Sh& W6t

B.(pemmCW  H3;0" wmmb  F -
Shd| W6oT

C.(peoymbw OH™~  wmmib F~
ShIW6oT

D. pemmCW  H3;O0" wmmib HyF ™

Sh&LLI6oT

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_KmEEgnn735OL

6. 618 &M JHMMIHEV HEDIJF6M6V
2 _(IheUM&(GLD?
A.50 mL of 0OIM NaOH + 25 mL of 0.1M
CH;COOH
B. 100 mL of 0O0M CH3COOH + 100 mL of
0M NH,OH
C.100 mL of 0.IM HC| + 200 mL of 0.IM

NH,OH


https://dl.doubtnut.com/l/_KmEEgnn735OL
https://dl.doubtnut.com/l/_fJJ9ARrBYXM6

D.100 mL of O.IM HCl + 100 mL of 0.IM

NaOH

Answer: A::B::C::D

o View Text Solution

7. Nesteu(md LieehGrm  GCaijomigerilev

W TWISMILOMS 61FWEVLIL &HEnlqUIg| 6187

A. BF;

B. PF,


https://dl.doubtnut.com/l/_fJJ9ARrBYXM6
https://dl.doubtnut.com/l/_BQMVTjFPIzrC

C.CFy

D. SiF),

Answer: C

° View Text Solution

8. Liletteu(hHeuesteumm|ef

ClEW6VLIL M5 6157

A. BF;

B. PF,

eV MUISMILOMS,


https://dl.doubtnut.com/l/_BQMVTjFPIzrC
https://dl.doubtnut.com/l/_MsKFIRGKtbr2

C.CO

D.F~

Answer: B::C

o View Text Solution

9. UletTeu(hD SHMRIGelilest , &M
euellemouwilest Qmmal(Ge6Uflend 616016017
OH ,NH, H-C=C" wwmm|b CHs -

CH,


https://dl.doubtnut.com/l/_MsKFIRGKtbr2
https://dl.doubtnut.com/l/_kSIkvjpdt4DC

AOH gt NH, gt H-C=(C" gt
CHs-CH,

B.NH, gt OH gt CH; - CH, gt
H-C=C"

CCH; - C(CH, gt NH; gt
H-C=0C" gtOH"™

DOH™ gt H-(C=C" gt CHy -

CH, gt NH,

Answer: B::C

o View Text Solution



https://dl.doubtnut.com/l/_kSIkvjpdt4DC

10. Gomquwitb &SUMyCL. , evfleSssilwid
GGemmemny(h  WLHMID  elLMLTSIWLD
FUIem6sT(H ShBlWeumedT RITSH6E0 JFEVEH6IT
(LpemmGul

A. SULOI6VLD, SHLOI6VLD, SITIJLD

B. &ITJLD , SILOI6VLD , SITJLD

C. S, (B MHleme6v, SITILD

D. Qaumnlev 68 |L016V6m6V

Answer:


https://dl.doubtnut.com/l/_kSIkvjpdt4DC
https://dl.doubtnut.com/l/_lu1cDzbLG96L

° View Text Solution

1. 010M Glemeyemy_w Hilw  Lifliqedt
senfFelley, Ulifligesillild  Siulésileniwd
(CsHsNH) e(heun&ssHaniqgwl  Lifliqest
(CsHsN) epevéanmselett &gaigh

A. 0.006

B. 0.013

C.0.77

D. 1.6


https://dl.doubtnut.com/l/_lu1cDzbLG96L
https://dl.doubtnut.com/l/_V7wPoS9jGXei

Answer: A::C

° View Text Solution

12. 50 SevTSieNelemL U, 1, 2 WMMILD 3
6n)lD pH WHLILISHEM6NS  blSTeooTL
eP6IM|  SIOleVSH  HEMIJFEVSHET  6(Th
56060116V &H6V&5&L1LI(H & 606TM6DT.
sHevemauuilev o 6iterm H ™ siwesllg Glanley

616016017

A.37*10 2


https://dl.doubtnut.com/l/_V7wPoS9jGXei
https://dl.doubtnut.com/l/_ZqObJGVdsgEu

B.10 ¢
C. 0111

D. Q6016 61561 LD6V6Y

Answer: A::B::C

o View Text Solution

13. 0IM NaCl senjgailev, SHendhlmest
QUHsHs WAL 16 * 10710 Qsmesor

AgCl ;) B\6BTILDG B 65T HEMITEH MET LOGILIL]


https://dl.doubtnut.com/l/_ZqObJGVdsgEu
https://dl.doubtnut.com/l/_mleSoCWKVZzG

A.126*10°M
B.1.6*10 ’M

C.1.6*10 1M

D. L&A WLD

Answer: A

o View Text Solution

14. Gleu. AGCWMEDILLq6dT  &H6eDTSH MedT
ClL(H&S &L 3.2 * 10~ ° eTevilev, G601

S6DTH M60T LOGILIL


https://dl.doubtnut.com/l/_mleSoCWKVZzG
https://dl.doubtnut.com/l/_FjpMC73j94VI

A.2*10 %M

B.4*10 ™ *M

C.1.6*10 " °M

D.1.8*10 °M

Answer: A::B::C

o View Text Solution

15. A G° = 5734 kl mol ™' eTen)IlD &6

BL 16T ShMHMEL E LML LWETLGSE),

XoY () = 2Xt  Brssemggev + Yo


https://dl.doubtnut.com/l/_FjpMC73j94VI
https://dl.doubtnut.com/l/_ap87xQzP8Jke

61601 M 6l160)6015(8), 300 K
auliumemeuuiley  Hiflev XY  Qebr
6018 M 66T ClU(H&S L&) LI6tL
5650158 (5 8. 300 K (R=83 ) K ' Mol 1)

A.10~ 1

B.10 12

c.10~ 1

D. 6laM(B&&LILIL L 5561168 (HHG|

G6001&H5I L (LPLQUIME)|

Answer: A

| e |


https://dl.doubtnut.com/l/_ap87xQzP8Jke

| L ® View Text Solution

16. SiemmoleuliLl Hlemevuilev MY LOMMLD
NY; Shalw Senqwing o L1186l 6.2 - 1013
el6dTm  glowrmest, K, LO&ILILIGHED6NT
blamesor(heiermest. MY  WMMIDL  NY3
SHEIWQUMen ML elLImm |8 5 euemnyuiley

61Thg) Fn.MM)| 2 600T60ILDUIMETIS) |?

A MY LMHMID NY; ShSlw 2 LIL|&elT
grw hHeoy efl 0.5M KY senrgele

SIGSHLD H6eMIJE60TM)60T.


https://dl.doubtnut.com/l/_ap87xQzP8Jke
https://dl.doubtnut.com/l/_hXMGYSsPd203

B.MY MM NY; 6lgmrausellev KY

qen)lD 2 leml  GEFLILIg 6oy

Si6Ummlest &H60 75 M 651861116V
eTeua 5 N ERIAINN
2_600TL_[T6U S 6V6DI6V.

C.ihflev MY MM NY; Qjesoriqedt
GLOMeVMI] &H6MTEHMEST LG)LILIS(6THLD
&LoLD .

D. hiflev MY ufledT GLOMEVITI] &HEM T M6DT,

NY; uilest GLOmevr &Hem &) mem 6ot


https://dl.doubtnut.com/l/_hXMGYSsPd203

el (§emmey.

Answer: C

° View Text Solution

17. 510 SHev1S46ME 66 0.IM NaOH LbmMm|LD
0.0IM  HCl &6DIJEFEVHEDET  6260TMIMTS
HEVH(GLD CLIMG| HemLHGLD SHemijgedlest

pH LO&LIL| 6T165T60T?

A2


https://dl.doubtnut.com/l/_hXMGYSsPd203
https://dl.doubtnut.com/l/_g9svjKlpHpWw

B.3

C.7

D. 12.65

Answer: A::B

o View Text Solution

18. (1H eualemID (FHEOMHG AHLO6VEE)6dT
LNfema IS wHiiy 1* 107 % pH = 4

6T60)|LD LOGHILIL| 6lHMEBTIL 6(1h SHMHISHEV


https://dl.doubtnut.com/l/_g9svjKlpHpWw
https://dl.doubtnut.com/l/_SqXq1rtSPT5o

HEOJFe6Y  HUMHEHS  Ggemeuulmest

all& gL

A. 0.16875

B.0.12777777777778

C. 0.41736111111111

D. 0.048611111111111

Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_SqXq1rtSPT5o

19. 10~ °M KOH &6mj8:608) 66T pH O 1L

A.9
B.5
C.19

D. Q60161 61861 LD6V6Y

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_8wz2WMKRwvIS

20. H,PO, Q661 Q606001 SITILD

A. PO}~
B. P205
C. H,PO,

D. HPO;~

Answer: C::D

o View Text Solution



https://dl.doubtnut.com/l/_l5BMFqUPw5fu

21. Uilesteu(meuesteumme 61g| bleverrl-
LIJT6T6NL L SHLOIGVLDMTSHEYLD , SMJLOMSEYLD
Cl&WeVLIL (LPLgUILD ?

A. HCI

B.SO; ™

C.HPO:~

D. Br~

Answer: B::D

o View Text Solution



https://dl.doubtnut.com/l/_n9seiKy3pc49

22. ®(h B sHemrsellest pH LOSILIL
Lh 21 WILD, 61601l6V SiMHG) &60)JE6V
A. 81Nl g 616y SILOI6VE G 60T6DILD
6l M6ToTL )|
B. 918)8 S1LH16V5865T60ILD 6l SHMETITL G|
C. h(HH60I16VE) GETEOLD bl &HMTETITL G|

D. &5 5601600 6l SHM6ToTL g |

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_g4K8lwBGuzg7

23. &(h 6uUellenID (HEOMHG SILOI6VLD
LOMMLD S 5601 2 _LIL|&HS606IT
615M6soT(H6ITeN 62(H GHMMRIGHEV &H6D[JE&60)60T
60)6L L7 60T W 6oilg clgmlemeu

GMU(heug|

apm] = el |

A T AR

C.[H"| = K,| }
K| }



https://dl.doubtnut.com/l/_g4K8lwBGuzg7
https://dl.doubtnut.com/l/_OYc6AX6DjuEc

Answer: A

o View Text Solution

24. Liletteu(mhHeussteummlen HDGLomesilulLD
SIBILCLL lq65T HhImMUG&HFHeV 615508

GMIULN G LD Flwimest 6ISMLITL] 6187

Ah=, B
C

B.h= Ko
K,
K
C.h= L

K,.. Ky


https://dl.doubtnut.com/l/_OYc6AX6DjuEc
https://dl.doubtnut.com/l/_9jEGMWAQDfUT

Answer: A::B

o View Text Solution

25. NH,OH Qet1 Uijlems omjled] o)LL

1.8-10°° eT60Tl6V, NH,Cl B et

HIMHLG&gev el gLy
A.1.8.101°

B.5.55- 10 1Y


https://dl.doubtnut.com/l/_9jEGMWAQDfUT
https://dl.doubtnut.com/l/_cFClmXP8taGo

C.5.55-10"°

D.1.8-10°

Answer: A

o View Text Solution

26. LOI6OTGEOTMLL 8608 6156)|58 615 M6V

GCeuglommmLd MHI&(LPLD 6l&wev

A. Th(BHl6m6L WIS SH6V

B. (HIMHLI(&&&ev


https://dl.doubtnut.com/l/_cFClmXP8taGo
https://dl.doubtnut.com/l/_0xJgx9wTWRhW

C. LOI60T60TITM LI (88 &6V

D. SlWlesfllM&HSHev

Answer:

o View Text Solution

27. (LpgeSlev  LOlebT6DITN)

6l18) 560611 61(& 5 G 6]

LI(&5HGH6V

A. L_IT6VL_60T

B. LIMJGL


https://dl.doubtnut.com/l/_0xJgx9wTWRhW
https://dl.doubtnut.com/l/_Ds0QGV8amFWC

C. 61355 G6v

D. S1eusMLGgm

Answer:

o View Text Solution

28. ®(H QYD LOl6STGEOTTL L G608
@ (HLOTLI(G6ME  SHeDJFVHET  6ULPI G
0156y 155I1D6LINMG| LWleTeumuiley  LilquiLD

elum(nerfledt mHlemm



https://dl.doubtnut.com/l/_Ds0QGV8amFWC
https://dl.doubtnut.com/l/_CnBKoCTlzgwv

A. &LDIT60T MHlemmn)
B. CLD6VSHEN.M)| 6T6DIL
C. O6t1G6UG) & FLDM6DT 6T6T)L

D. 6([h &IIJILD

Answer:

o View Text Solution

29. LG LS 65T60T M) LI (LI L

a1 B) & (6THL65T CIGMLTLI60ILULIG)|



https://dl.doubtnut.com/l/_CnBKoCTlzgwv
https://dl.doubtnut.com/l/_yrYZsB9AELt7

A. GrhITLOl65T S1wl6silull6oT <1600)| 616301
B. 618 [TLO166T S1Wl6BTIUTI60T S1680)| 6T630T
C. OledTLI(G6rlull6dT FLoMenT 6160

D. Gyl 66T SHuilesflullesT GeusLd

Answer:

o View Text Solution

30. Gamquilb HALGLLemL, SHFAL 195
SB6VE G |L 66T CFJ&HGLOCLIMGI, HFL 195

SIeG S 60T LN Iflemd aigLd


https://dl.doubtnut.com/l/_yrYZsB9AELt7
https://dl.doubtnut.com/l/_P70cxcLAT03d

A 2 W(HBIMEG]
B. (&6 M&IMG|

C. LDMMITLD6V 2 6176, |

D. LLELIWLDM&sIMG|

Answer:

o View Text Solution

31. NH,OH &b 6usflend (§60Mhs

SITIJLD, 6]6]60T60116V



https://dl.doubtnut.com/l/_P70cxcLAT03d
https://dl.doubtnut.com/l/_GCBhPeLjy8jf

A. (§EDMHS SH(LD5HS5HS5HENS 26D UG
B. LI5S WIS SHweswnslms|

C. (P (LP6UG DTS Siwlesilnalmag|

D. (560 MHE SLTHIL6DL WG]

Answer:

o View Text Solution

32. LNflemsaisd a wwHMIL X 6lgmey
o266l 6(h QrULeml LOlesTL(G6M &G

SheNeUMeVL. hIT8 56V el &)



https://dl.doubtnut.com/l/_GCBhPeLjy8jf
https://dl.doubtnut.com/l/_Rd2lJgs4lHFT

A K =
Qa
2
K — 2C
1l -«
1—a)C
C.K:( 2)
Q
2
oK — —2C
(1—a)C
Answer: A::B::C

o View Text Solution

33. SheveUmeul. HiT5GH6V aild LNebTed(HLD

15HM(G ILMIHHHHInIqUIG)|?


https://dl.doubtnut.com/l/_Rd2lJgs4lHFT
https://dl.doubtnut.com/l/_eVOeCGS1vmQ8

A.CH3;COOH

B. NaCl

C.NaOH

D. H, 50,

Answer: C

° View Text Solution

34, Lil65T6U (THLD 61MH &) 61 MLITL

Grilwimestg|?


https://dl.doubtnut.com/l/_eVOeCGS1vmQ8
https://dl.doubtnut.com/l/_6QRIbYFD5irh

1

A.pH= [H+]

B. pH =1log;, [H+]

C.logyopH = |H ™|
1
D. pH = loglo [H +]

Answer: A

o View Text Solution

35. 10 °M e@menm &My SIblevsms & (h
ILL semylumnesiley &Hen &g LImG,

&H6mJ& 601661 pH


https://dl.doubtnut.com/l/_6QRIbYFD5irh
https://dl.doubtnut.com/l/_XPLFudgwNCkr

A.6
B.7
C. 6-3allL (§emmey

D. 7-93 el 45\ &HLD

Answer:

o View Text Solution

36. @ (IH &H6e0JF6Sl60T pH = 2 6T60il6v, &6V
9 _6IT6I 60YGLNL_[JQ65T H W60 &H6TT 60T 6l&FM)6)

GLomev / eS1L_Liflev



https://dl.doubtnut.com/l/_XPLFudgwNCkr
https://dl.doubtnut.com/l/_mPkcH363U291

A 1*10 12

B.1*10 2

C.1*10 "

D.1*10 4

Answer: A::B

o View Text Solution

37. 5IM5eTe Sl SI6V6VE)| SHMTSHENSG

CI&ELUTG| &IhH &emrgellev  pH


https://dl.doubtnut.com/l/_mPkcH363U291
https://dl.doubtnut.com/l/_xjfXrrNmuXbf

Lommedlevemeu6lwesiley  MhHeHE:  &HeDF6U

A. BIMMHBISH6V &6 IJE6V

B. 2_600T60)LD& SH6D)[JH6V

C. 165memaL_[fl& H6D)J&6V

D. IH6V6VI W6UL] &H60)J&6V

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_xjfXrrNmuXbf

38. 6ueSlemLD(G6EmM AHLOI6ULD LOMMLD 6RLILY
2 61161 GMMhI&H6V &H60IJF6S166T 60)6UT)L 7601

SiWeoilg 6lanley

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_mLe2LnGcIXFX

39. UletTau(hlD nM)|SHem6sd &Heuenil: (i)
olLIMg| Siwenll allemerney (i) SHemglmeot
ClLIH&SSBLD (iii) SheveUTeVL. HiTHH aild)
Qeumm|6, STamesiwen 6lsmemenaHemul
SQLILIEOLWMSHS 6l SHT6T0TL G| 6187

A. (i), (i) LDL_(B LD

B. (ii), (iii) LOL_(HLD

C. (i), (ii), (iii) LL_(HLD

D. (i), (iii) LOL_(BLD

Answer:


https://dl.doubtnut.com/l/_wiKmlnkfBRMX

o View Text Solution

40. SILGwMelw e TT&Hen&d(h
56018681 65T AC LOMHM)|LD VvC
L& LIS EHE(G Q6L Gw euemulliLI(hLD
6uen JGaM(h eTeueUTM)|

SHOWHSLILI(HSIMEG]|?

A. LITJ6U6D6TTUILD
B. eu6m6NMG&M(h

C. Crhi7&Gan(h


https://dl.doubtnut.com/l/_wiKmlnkfBRMX
https://dl.doubtnut.com/l/_42PYqLnHz7mD

D. &lev) L oL L &6am(h

Answer:

° View Text Solution

41. HifledT SIWesNIGOLI(HEHS L) LILI6tT

S16V(5)

A. GLomev -1

B. 2 GLomev —2

C. GLomev -3


https://dl.doubtnut.com/l/_42PYqLnHz7mD
https://dl.doubtnut.com/l/_d1Wzf8p8t0Lk

D. QUMM |6 61861 LOl6VETIEY

Answer: B

° View Text Solution

42. 5% UflemswenLhg 0.02 M SIS L19&

SiBlevg 6ot K, LD LIL

A.0.05* 10 2

B.1*10 !

C.5*107°


https://dl.doubtnut.com/l/_d1Wzf8p8t0Lk
https://dl.doubtnut.com/l/_pY3dGu3QmxsZ

D.5*10 !

Answer: A

° View Text Solution

43, 6 (h &L_& g uileotr 6U LG
LO165T60TIT) M E6mI6VEF 6156Y155|DCLIMG)|
CGeugllommmd  MHHPSIMG|.  erevllev

SHGL_G ),

A. 2 Geun&& &L_55)


https://dl.doubtnut.com/l/_pY3dGu3QmxsZ
https://dl.doubtnut.com/l/_JPeqoylNLEGx

B. LOl65T LI(G 61T &L_58)
C. LO160T &L_58)

D. QUMM |6 61861 LO16VEtIEY

Answer:

o View Text Solution

44. 90 S  LOlESTGEOITL L G608
06|55 IDGLING|  UlQUD  SMLILITfleoT
SleNemeud  &Heoorshsl(h.  (Cu-651  &FLOM6OT

mhleoym = 31.75)


https://dl.doubtnut.com/l/_JPeqoylNLEGx
https://dl.doubtnut.com/l/_HEyYopKwfjbN

A.0.03g

B.0.3g

C. 0.06g

D. 0.011g

Answer: C

o View Text Solution

45. 01 N NaOH 2o.e6Tem &Hemijgellest pH


https://dl.doubtnut.com/l/_HEyYopKwfjbN
https://dl.doubtnut.com/l/_GRxavfi8J2aV

Al

B.10 !

C.13

D.10 13

Answer: A::C

o View Text Solution

46. LNedToU(HLD GFITLOMIGHED6T SHeuesil : (i)
606U L_IJE360T guwemeoi(h (ii)

AADGwmesllw  evamLnnsHeng( (i)


https://dl.doubtnut.com/l/_GRxavfi8J2aV
https://dl.doubtnut.com/l/_PwOryWUOd0Bo

SIFLIgSH  Siblevud  (iv)  6lumlLm&lwb

GGenmmenn(B QeummIeT, SheiveuTevLq6sT
HIg 560 aNl&ég o L LIL Mg G&jLoLb.

A. (i) bL_(HLD

B. (ii) LOL_ (B LD

C. (iii) LL_(B LD

D. (iv) LOL_(HLD

Answer:
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47. SLpanesoLIUMNMIV 618 SLSHHWNS
ClaweuLILMg)?

A. 2 BeumsLD

B. SiWe6ollFG&TLOLD

C. 2 BeuMe& H6v6M6)

D. &MijLI6sT 6IL LT (& Germmenj(h
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48. SHLDSMEBOTLIGU MNl6V
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A. 61g3TomesfluiLb

B. &MLILIIT
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D. &MU &6V6LIL. &H60) &6V
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B. 1681 &5 medT

C. &MU

D. 60)L_L_GL_63flWILD 600 Sh&Hemen (b
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50. LO6BTEMI&608) LI(GEHWNTS 865T euLPIGl

LMW SHeD)|LDSIH(GHLD 6lLIM(HLSHET

eT6oTLI LI (H LD.

A. (56DMSL58) &6
B. LOl66TLI(G61T1& &L_& & &6IT
C. 2. GeVuNeHS &HL_58)&6M

D. 6T6VSL_ITM60T &L &6l
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51. SHLDSHMEBTLIGU MNl6V
SheiueUeUILGEDT  [HITEG6V
eU(Hedl&HsLUILI(HLD?

A. HCI

8. CH,COOH

C.NaOH

D. KOH

Answer: C
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52. LOletTG6OTML L G&lemenst  LO6oTLI(G)61T&
HenjeeSlet Ul 6lEaY|5G|DGLING]

MH&LD6UG| LOl6oT6oTMN)  LI(GLIL

eTe6oTLI LI (HLD.

A. Gauglailen 6ot
B. QuimLilwev LommmLb :
C. allq6l LoMMmMmLD

D. GLDM&6BTTL S160)6018)8|LD
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54. euellemD (§emm LOleosTLI(Ge6rTI&eril6v,
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A 0o
A —
Ao
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C.
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56. AgCl 66T H6MJSHMEDT 6T1THG) SHEDJFEDIEVE
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A. HF

B. NaCl

C. Aly(S0,),

D. NH,OH

Answer: A::C
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A. HC|

B. H,SO,

C. NaOH

D. H,O

Answer: B
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A. ShenelUmeuL_

B. Siljau)soiluen

C. GamyedTa60T
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A1*10 1

B. 14

c.1*10~ 7

D.7
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TS L1 60T aumuilev ThemL blLIM|LD
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A. LOl6BT6TTIT) LI(GLIL
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C. Sh&6en01260T 69 (h &H&HLD

D. Q6L & Slem g6
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&0 JF6V H6V6V7

A. CHgCOOH + CH3000NCL

B. NH4OH + NH4CZ

C. H,CO3 + NaHCO;4

D. NaCl + NaOH
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A. Uflems wmleld] gLy
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C. pH

D. pOH
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